wsions  Who, where and when?

Who?

One of the following four people has committed a crime.
The criminal made 2 errors, the victim has made 0
errors and the other two suspects have made 1 error.

The plumber made the following

statements:
000 x 20
e 972 x 18 =~ 20,000 v~
{e — Uy )xLbO = 2x 40O =0
e (5.67 - 3.85)x (39) = 40 X
O-4* = O-Lx0OL
e 0.3922 0.16 V
30% = 30x30=-900
e (34.2)* = 90 X

\

Cq_\“‘ d

The waiter made the following

statements:
SO0 x 2 = 1000

e 498 x 2.18 ~ 1000V
300 x O-1

e 331x0.68 ~210/
10 +5

e 1392 +48=2/
Q00 = 100:9

e 881 ~+ 99 ~ 8.8 X

o (O
5“4 bé

The carpenter made the following

statements:
{uoo
e V413 %20/
4O x(6+6) = 4OXI2
e 36.8% (5.7 + 6.4) ~ 480/
0-1+0-
e 0.143 +0.116 = 1V
200 = 500 = Ol
e 159 + 512 = 2.5

o
n
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The photographer made the

following statements
9 x 10 =70
e 7.2x9.7 =70V
L 0S5
e 4.189 = 0.477 ~ 8
Lox F
e 4.19%x6.68 ~ 28/

100 - 5
e 1056 = 5.12 ~ 20
|
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Where?

The murder was committed at one of the locations below, but which one?
It happened where BOTH answers are the same.

3.8 X V385 & 4x 500 yx20= 80

The lounge 543 + 472 = 500 , 509 -25+50=3S
18.1 109 20 @
96.6 X 4.9% = 100« 5" 100x25:2500
The hall 28.2 x 3.14 =~ 30xZ. ()
8.99 s
54.3 + 47.2 & S0+50 : 100 -5
Th d 9.8 + 10.9 (0+0 20
€ gardens V(5.21 x 8.35 X 0.105) #V5:850°1 . [i .2 .1 o0
1.72° 9% L L Z
2.5x3.6= 32b:12 .2
_ 6 6 ANSW
The kitchen 29 SAML— e
0.21x98 = 024100:20,9
103.1 9.6 l00+\0 O
When?

Find the day where BOTH statements are correct:

(7.89 x 10%) + (4.73 x 10%) » 1.6 x 102/ (8109 (5407

Vv
M 5 .
onday 1 1.98 x 105 x (4.65 x 10%) ~ 1 x 10° 2+10%($10"):1¢10"°
(1. 3)2 = (3. N 1% 103 (4x10%)=25
Tuesday ¥ (¢! 25x1g) (36x_140) 25 (x_4) > 5
x (1.5 x10°) x (7.2x107) = 1.4 x 107724105 1x10 =l 4x 1O
A(3.64 x 107) x (2.4 x 10°) ~ 8 x 10% Lx(0?x2x10™
Wednesd b
canesdaYl 4 x107) + (2x10%) # 2 x 10> 210
/ -2
A(5.84 x 10%) + (2.68 x 10%) = 2 x 10° 6£xI10* 3410
Thursday “}}
UrSEaY 4(3.52 x 10%) x (1.44 x 10°) ~ 4 x 102 L 10" IxICF-
Friday V] (5:59 X 102) + (1.87 x 10°) ~ 3 x 1073 6x10*:2¢10°
Y d(8.17 x 103) = (1.52 x 102) = 4 x 1075 B0 20 O 4 4ei0
The Accusation
Who \/idun:pmtqqmpxu Cruwaak= Pomber
Where |The kitchen
When |Thusday
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